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[image: ]Section A (Remember NO working allowed!)
1	(a) 68 + 47		(b) 360 x 10
(c)  What is a half of £21
(d)  A square has length 5cm. What is the area of the square?
(e)  My bill in a café came to £18.20. How much change should I get from £20?
(f)  What is the weight of 5 packets of crisps if one packer weighs 12grams?
(g) Write down a number which when rounded to nearest 100, gives 400.


Section B (Remember ALL working must now be shown!)
2.	Write down the next two numbers in each sequence :
(a) 4, 6, 8, 10, 12, ...        	(b) 5, 10, 15, 20, 25, ... 	(c) 53, 47, 41, 35, ...            
(d) 1·4, 3·5, 5·6, 7·7, ...   	(e) 7·9, 6·7, 5·5, 4·3, 3·1, ... 

3. Tables in a restaurant are set out as below:

      

	Table number (T)
	
1
	
2
	
3
	
4
	
5

	Number of seats (N)
	
3
	
4
	
5
	
	



													
(a) Draw the pattern for	(i)  4 tables and chairs
                                            	(ii)  5tables and chairs
(b) Copy out the table above and fill in the missing boxes
(c)  Write a word equation for:
        Number of seats =   ___?__  X    table number   +  ___?____                    

(d)  How many seats would a table of 10 have?
For extra practise go to:-
http://www.bbc.co.uk/bitesize/ks3/maths/algebra/number_patterns/revision/8/


Section C
4.	The head cook made a giant pot of curry to feed 30 rugby players. 
He used 2kg of chicken. How much chicken would he need for:
(i)    60 rugby players
       		(ii)   90 rugby player
       		(iii)  15 rugby players  
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